HTAEZE AL EEHRER —ER

SHMAE12A1BIRAE

A
SWV-EFTARERETEZES
B % BEALEERER B % BEALBEHREHR BEALEEHER B % BEAABEHEHR
E] % 5t E] % 5t E % it E] % 5t
XELHANEF 0 0 0 | K=FKH+ 603 650 1,253
RFFENEF 0 0 0 | K=F{EZIII 3019 3,120 6,139
AFTHE 0 0 0 | K=FHBFI 0 0 0
= HIET 1,438] 1,436 2874 |[FARE1TH 809 874 1,683
=#85TH 1,462| 1,466 2928 [FEXKE2TH 550 550 1,100
=#86TH 3,939] 3979 7918 |[FARKE3TH 1175 1197 2372
XFERB 7,332] 7605 14937 |[BAXE4TH 840 847 1,687
KF¥aRE AT 1,139] 1,234 2373 | KFEXEEZEX 0 0 0
RKFEX 1,544 1,645 3,189 | KF A EMFN 0 0 0
XFIEF 239 285 524
AFiamE Bt 173 179 352
REFFET 788 813 1,601
AFEKR 1,135 1,203 2,338
RFFAF 483 532 1,015
REHNFAMB 2,301 2296 4,597
REFFEHH 268 269 537
KFEFBRR 112 105 217
KF EHERB 0 0 0
REFEES 1,887] 1,964 3,851
KEFTRE 1,409| 1,468 2,877
RFZYE 859 907 1,766
AFEREAFTH 384 372 756
KFEXR 15 16 31
RFHERAAFFH 5 6 11
SAE1TH 34 35 69
SAE2TH 44 36 80
BEAE1TH 25 28 53
ZEAE2TH 45 49 94
BEAEITH 71 63 134
754 1,380| 1,506 2,886
KFER 485 492 977
KF = &Hy 226 226 452
AFHERRAR 1,063 1,119 2,182
REFEFHHK 911 944 1,855
KEERE 428 438 866
A = 2 £ &
A A
38,620 39,954 78,574




HTAEZE AL EEHRER —ER

TH4F12R1BRE

X
SWV-FEHIEREREEZES
B % BEALEERER BEALBEHREHR BEALEEHER B % BEAABEHEHR

E] % 5t E] % 5t E % it E] % 5t
XEXRE 0 0 0
RFKXB 0 0 0
KaET4TH 2577 2726 5,303
HAREBI1TH 1,994 1,963 3,957
HARKEI2TH 2,353| 2423 4,776
KEFBH 0 0 0
BHE1TH 4630|4019 8,649
BHRI2TH 6,314| 6,823| 13,137
BH#RI3TH 2,393] 2,459 4,852
#sIfT2TH 2,104] 2,208 4312
REMNEE 0 0 0
HERE1TH 4325\ 4557 8,882
=HERET2TH 2,771 2,620 5,391
=HERESTH 2,910/ 3,055 5,965
=HERET4TH 2,693] 2692 5,385
EHE1TH 2942 2811 5,753
HEFET2TH 1,769] 1,701 3,470
Al Ffr BT 2,467 2581 5,048
ZRHE 3976| 3997 7,973
WEE1TH 2.234] 2192 4,426
EE2TH 494 732 1,226
AT 1,560| 1,718 3,278
XELE 0 0 0
+ 27 235 233 468
+EET1TH 2.575| 2,755 5,330
T EET2TH 2,353| 2,450 4,803
4 BT 1,631] 1,693 3,324
REFFEARE 0 0 0
A SERET 4604 4,869 9473
BE1TH 0 0 0
RB1TH 0 0 0
RiB2TH 0 0 0
RB3TH 0 0 0

P = 2 £°4 it

= R 61,904 63,277 125,181




BTREFEANBEERER—ER

SHMAE12A1BIRAE

KERX
SWV-EFTAERERXEEZES
B % BEALEERER B % BEAABEHREHR BEALEEHER B % BEAABEHEHR
E % 5t E] % 5t E % it E] % 5t
XE6TH 182 185 367 | FHET1TH 134 131 265
KE7TH 189 216 405 |FHT2TH 201 151 352
JLRET1TH 2.475| 2,585 5,060 | FET3TH 961 1,077 2,038
JLZET2TH 1,310/ 1,269 2579 |HAT1TH 672 667 1,339
HHE1TH 516 514 1,030 |EEET2TH 698 720 1,418
HEHET2TH 698 669 1,367 |#&KHET1TH 519 596 1,115
SHH3TH 540 564 1,104 |#KHET2T B 621 567 1,188
SHE4TH 545 629 1,174 |# KBTS T B 502 526 1,028
EREET1TH 494 544 1,038 |4 ABTATH 2563 2549 5,112
EHEET2TH 605 626 1,231 |$RAT 2 1 3
XBEI1TH 1,890 1,927 3817 | KFKET1TH 1,813] 1,803 3,616
XBE2TH 2,054 2110 4,164 | KpkET2T B 1,430 1,400 2,830
EONE1TH 1,890| 2,007 3897 | KFKETI3TH 1,945 1,964 3,909
EORNET2TH 767 786 1,553 |#&i518T1 T B 2,805| 2866 5,671
EONEISTH 898 953 1,851 |[=#1TH 3,777] 3,985 7,762
FEEET1TH 624 709 1,333 |[=#52TH 2576| 2470 5,046
FEERT2TH 1,119] 1,304 2423 |=¥&3TH 732 720 1,452
EE281TH 814 904 1,718 |=484TH 2.173| 2,280 4,453
E282TH 584 603 1,187 | E/NAT 4219 4264 8,483
E283TH 270 290 560 | KE{HET1TH 0 0 0
E284TH 2 4 6 | KEMHET2T B 0 0 0
TFH1ITH 982 929 1,911 | KE{HEISTH 0 0 0
TFE2TH 336 324 660
+FH3TH 602 601 1,203
EE1TH 70 67 137
EE2TH 170 153 323
EEI3TH 377 340 717
EE4TH 479 363 842
EE5TH 344 217 561
KXFET1TH 8 11 19
KFET2 T H 19 20 39
KXFEI3TH 617 650 1,267
HET1TH 28 23 51
hET2TH 41 32 73
HETSTH 271 238 509
A = 2 £°4 it
A A
51,153 52,103 103,256




BTREFEANBEERER—ER

SHMAE12A1BIRAE

RAKX
SWV-FEFHRARERXEEZE S
B % BEALEERER B % BEALBEHREHR B % BEALEEHER B % BEAABEHEHR
E % 5t E] % 5t E % it E] % 5t
KIHAET1TH 3.670| 3,741 7411 |MMAE1TH 1 3 4 |E[M2TH 935 911 1,846
KFINHAET2TH 3.237| 3454 6,691 |MNAE2TH 1 0 1 |[&EFSTH 1,172| 1,094 2,266
RFH 4 0 4 | K= LEFHE 4 2 6 |EUEF1TH 94 91 185
BWE2TH 1 0 1| KFRI 0 1 1 |EEHF2TH 190 187 377
Y U5 BT 3.372| 3465 6,837 | XFBRF 287 288 575
AFE 0 0 0 | KFXA 3,708| 3,808 7,516
=11 2,061 2186 4247 | KFEF 4,266 4472 8,738
ERT1TH 203 214 417 | KFREESH 1,476 1,645 3,121
EE2TH 178 177 355 | K=F SR PRI 1,714] 1,666 3,380
BAE1TH 1,307 1,285 2592 | KFEET 1,343] 1,516 2,859
BKXE2TH 1,166 1,226 2392 | HET1TH 74 78 152
HKXE3TH 927| 1,162 2089 |[HET2TH 190 187 377
BKXE4TH 2218 2239 4457 |RET3TH 46 49 95
HKXE5TH 1,424] 1,414 2,838 | KFFHIE 1,183] 1,300 2483
HKXE6TH 1,638] 1,594 3232 | KFFEE 308 292 600
HXE7TH 2,071] 2,048 4119 FE1TH 629 630 1,259
REFHH 733 764 1,497 |i®{E2TH 469 436 905
A#1TH 167 163 330 [(R1E3TH 660 625 1,285
A#i2TH 59 54 113 |R1E4TH 0 0 0
FHIER 8 7 15 |IR{ESTH 100 89 189
KEW 209 235 444 | EH1TH 1,463 1,634 3,097
RFEH 286 250 536 |EH2TH 290 363 653
281TH 102 92 194 |EEH3TH 644 669 1,313
282TH 72 62 134 |BEH4TH 660 678 1,338
X3TH 285 314 599 | KFH ~iF 658 649 1,307
REFERFH 1,715| 1,844 3,559 |14 IS HT 1,184] 1,093 2277
RFEN 120 121 241 | KFELAE 60 64 124
KFHENE 2,718] 2,841 5559 |EyRE1TH 41 51 92
REFEHEF 3,071] 3,199 6,270 |E~ /12T H 3 4 7
RFREHH 3.876] 4,067 7.943 |E4 /A3 TH 133 134 267
K=l 3,323 3471 6794 |~ AIE4TH 37 30 67
KEELOFHE 308 322 630 | KF/INMEE 2,508| 2,600 5,108
AFFEILFFHEA 18 18 36 [EET1T B 0 0 0
RFEHEIFFE 39 27 66 |EIET2T B 9 29 38
REMNMBEFH 1 2 3|E@M1TH 650 655 1,305
A = 5 T &t
= H 67,777 70,081 137,858




PREX

BTREFEANBEERER—ER

SHMAE12A1BIRAE

SWVEFETHPRREXFEERER

BEARBERER

BEARBERER

BEARBERER

BEARBERER

BT 4 BT 4 BT 4
E % 5t E] % 5t E % it E] % 5t
RKELES 0 0 0//\TF4TH 252 271 523
LTEE1TH 1,216 1,401 2617 |/\EF5TH 719 784 1,503
L#E2TH 1,451 1,639 3090 | FIE1TH 658 663 1,321
+#*E&3TH 902 947 1,849 | Fig2TH 789 790 1,579
L#E4TH 352 362 714 | FIE3TH 616 588 1,204
+#E5TH 810 802 1612 | FIE4TH 406 429 835
+#*&6TH 1,029 1,093 2,122 |MB3R1TH 29 28 57
+T&EE7TH 1,059 1,163 2222 |MBER2T B 263 274 537
+#*E&8TH 640 744 1,384 |MRIFR3T B 98 124 222
L#E0TH 513 525 1,038 |MFIFR4 T B 445 453 898
AFTEE 1,540 1,681 3,221 |HBFESTH 646 643 1,289
T%&2TH 752 822 1,574 M6 T B 65 68 133
T%&3TH 784 883 1,667 |MFIFR7 T B 231 214 445
T%&4TH 652 673 1,325 [#FE1TH 610 627 1,237
T%&5TH 555 590 1,145 |#%xF2TH 430 416 846
T#%&6TH 821 839 1,660 | AETFE1TH 582 591 1,173
T%&7TH 614 654 1,268 | RETFE2T B 410 457 867
HR/1TH 75 83 158 |AETFEIT B 760 787 1,547
$HR2TH 550 578 1,128 |AETFEATH 596 595 1,191
$HAR3TH 584 583 1,167 |ABTFEST B 564 588 1,152
HR4TH 1,219 1,283 2,502 | AHEIFE6T H 140 157 297
$BA5TH 426 420 846 |RETE1TH 448 496 944
#2586 TH 611 580 1,191 |ABETE2TH 487 490 977
HR7TH 1,171 1,241 2412 | ABTE3TH 476 457 933
5 88TH 449 442 891 |KETERATH 754 796 1,550
89T H 118 97 215 |KETERS5TH 658 701 1,359
XE1TH 934 898 1,832 | ABTEE6TH 455 455 910
KFE2TH 390 379 769 |AETE7TH 1,336 1,315 2,651
KXE3TH 526 531 1,057 |FhE1TH 866 886 1,752
KXFE4TH 697 749 1,446 |FhE2TH 552 597 1,149
KXE5TH 913 968 1,881 |FHEITH 617 634 1,251
KXFE6TH 562 601 1,163 |FhEATH 974 1,002 1,976
ANEF1TH 89 96 185 |#THPESTH 995| 1061 2,056
IANTF2TH 387 422 809 |F&RILH 114 135 249
IANEF3TH 821 806 1,627
A = S k
A A
42,253 44147 86,400




BTREFEANBEERER—ER

SHMAE12A1BIRAE

X
SWV-FEFTHRREZEERER
B % BEALEERER B % BEALBEHREHR B % BEALEEHER B % BEAABEHEHR
E % 5t E] % 5t E % it E] % 5t
REFFEYE 0 0 0 |ET81TH 423 418 841 | KFHFIEAR 0 0
FEIE1TH 328 313 641 |ETA2TH 359 389 748 | K HFIABED 0 0
FEE2TH 916 921 1,837 |HIA3TH 659 586 1,245
FEIE3TH 869 854 1,723 |HIB84TH 359 304 663
FEEATH 1226 1254| 2480 | KFERXE 0 0 0
FEIESTH 492 498 990 |[FiE1TH 510 520 1,030
FE6 TH 907 836 1,743 |BALE2TH 1013| 1,046 2,059
FEE7 T H 1,023 991 2014 | KFEHE 0 0 0
FEIESTH 720 715 1435 |HE1TH 862 901 1,763
FEIEOTH 616 618 1,234 |[HE2TH 375 335 710
FEE10TH 315 322 637 |HE3TH 181 183 364
KFR 0 0 0|HhE4TH 316 301 617
XFEBHE 0 0 0 | K=FHH 0 0 0
HE1TH 680 681 1,361 |RF1TH 602 539 1,141
HE2TH 562 574 1,136 |RF12TH 808 773 1,581
HE3TH 1028 1057 2,085 |XF13TH 721 677 1,398
HE4TH 989 938 1,927 |RF4TH 516 460 976
HES5TH 576 550 1,126 |F#5TH 558 521 1,079
HEG6TH 1,095 1,232 2,327 |%F6TH 556 489 1,045
HE7TH 72 84 156 [ KFILAR 0 0 0
HESTH 242 185 427 ILAR1TH 352 365 717
HEQSTH 215 192 407 [ILAR2TH 549 564 1,113
HE10TH 641 644 1,285 | KF L RAR 2,077| 1,984 4,061
REF$6H 0 0 0 | KFTRAR 2,085 1,654 3,739
#FE1TH 470 467 937 | KFRKARER 2,557 2739 5,296
#FE2TH 193 196 389 | KF#HA 2.278| 2163 4,441
#FESTH 12 10 22 | KFE# 2,983| 3,053 6,036
#FE4TH 0 0 0 | KFHR 163 172 335
RFiEH 5 3 8 | KF®E 267 244 511
EIZ1TH 292 284 576 | KF A 782 747 1,529
Eig2TH 1,292| 1,234 2,526 | KFIFEX 673 684 1,357
EiH3TH 419 379 798 | KFREF0 0 0 0
Ei54TH 0 0 0 [#MA1TH 319 323 642
EiH5TH 0 0 0 [#M2TH 532 525 1,057
KEHETH 2 0 2 |##@A3TH 151 144 295
A = 2 £ &
= R 40,783 39,835 80,618




BTREFEANBEERER—ER

TH4F12A1BEE

SEMX
SWV-FEHTHNIRERXEEZE S
B % BEALEERER B % BEALBEHREHR B % BEALEEHER B % BEAABEHEHR
E % 5t E] % 5t E % it E] % 5t
ER1TH 675 684 1,359 |$t5&3TH 707 780 1,487 |#it2TH 553 563 1,116
EHE2TH 662 689 1,351 |#t+84TH 961 1,280 2241 |Ri#h3 T H 765 770 1,535
EHR3TH 484 502 986 | ERIZ1TH 1,419] 1,618 3037 |[AK1TH 1,593 1,839 3432
ER4TH 946 1,068 2014 | ERE2TH 992 1,097 2,089 [AKX2TH 1,180 1,286 2,466
ER5TH 603 611 1,214 | ERIZSTH 717 696 1413 |AAX3TH 1,111 1,202 2,313
EHR6TH 784 821 1,605 | EKIZ4ATH 705 680 1,385 |AX4TH 710 778 1,488
EHE7TH 1057| 1065 2,122 | ERBE5TH 541 566 1,107 |AAXS5TH 955 1008 1,963
=t 1,085 1,126 2211 | ERBE6TH 1111 1,143 2,254 |STHI1TH 1,084 1,153 2,237
=2M1TH 189 227 416 | ERIZE7TH 486 540 1,026 |StHT2TH 1,376] 1,581 2,957
=2M2TH 287 334 621 | ERIZSTH 253 262 515 |StAT3TH 771 836 1,607
=2M3TH 509 519 1,028 | KIF1TH 538 558 1,096 | XE1TH 1,228 1,278 2,506
=2M4TH 646 737 1,383 | KIG2T H 686 699 1,385 | KHE2TH 775 840 1,615
HE R ET 766 827 1,593 | RIE3TH 299 289 588 | KE3TH 563 621 1,184
hET1TH 617 744 1,361 | KIF4ATH 731 763 1,494 | KF=IF 5 6 11
hET2TH 711 800 1,511 | RIF5TH 870 938 1,808 |#4BA1TH 511 535 1,046
{HEISTH 740 806 1,546 |$ER1TH 756 788 1,544 (#4182 T B 715 753 1,468
HET4TH 730 814 1,544 |$BR2TH 488 495 983 |2 LIAT 801 874 1,675
B ET 1,420] 1,580 3,000 |$EXR3TH 803 819 1,622 |JEFIHET1ITH 0 0 0
ER1TH 1,382| 1,475 2,857 |fERATH 612 654 1,266 |;EFI{HET2T B 0 0 0
EE2TH 952| 1029 1,981 |$BxX5TH 487 513 1,000 |;EFOHEISTH 0 0 0
ER3TH 1,488| 1,698 3,186 |fER6T H 888 901 1,789 |;EFN{HETAT B 0 0 0
EHE4ATH 634 703 1,337 |fER7TH 994| 1,132 2,126
EHES5TH 838 965 1,803 |~ 51T H 670 726 1,396
®EE6TH 504 502 1,006 |#E~ 2T B 789 827 1,616
EHE7TH 564 607 1171 |FE~ I3 TH 535 631 1,166
ERSTH 447 507 954 |#E~IZ4AT B 676 741 1,417
EHEOTH 1,426| 1,488 2914 |FE~IB5T B 791 798 1,589
HH10TH 1,364 1,469 2833 |E9i51TH 801 805 1,606
LiEF1TH 1,261 1,461 2,722 |E9352TH 130 112 242
deiEF2TH 1024 1,077 2,101 | KE1TH 286 322 608
dtiEF3TH 1,170| 1,361 2,531 | KE2TH 176 214 390
JtiEF4TH 162 194 356 | KIE3TH 10 9 19
deiEF5T B 1,625| 1,734 3,359 | KE4TH 5 0 5
sy B/1TH 775 897 1,672 | KIE5TH 0 0 0
sy B82TH 1,076] 1,086 2,162 |Bii#h1 T H 1027| 1,105 2,132
A = 2 £°4 it
= R 66,239 71,631 137,870




BT A& E N BB E RE R —

BR

SH4E12A18BRAE

X
SWV-FTEREZEERER
B % BEALEERER B % BEALBEHREHR B % BEALEEHER B % BEAABEHEHR
E % 5t E] % 5t E % it E] % 5t
ARIG1TH 1,092 1,143 2,235 |BIFT4T B 289 283 572 |[NA5TH 1,100/ 1,075 2,175
ARi52TH 750 744 1,494 |BIFRST H 574 620 1,194 |[AA6TH 1,062 919 1,981
EHM1ITH 1,215 1,229 2,444 |BIFR6 T H 751 710 1461 |AA7TH 798 750 1,548
EHM2TH 1,621 1,563 3,184 |BIFR7 T H 1,425 1,493 2918 [UA/1TH 643 667 1,310
EHAM3TH 3,099| 3203 6,302 |{BiF1TH 983| 1018 2,001 (42T H 577 529 1,106
B4 T H 115 74 189 [#RF2TH 692 695 1,387 |MA3TH 614 607 1,221
ARFARE 3,746/ 3,969 1715 |#BF3TH 979 961 1,940 [FAAEI1TH 487 556 1,043
ABAE2TH 862 940 1,802 |1RF4TH 582 561 1,143 |FAAEI2TH 918 965 1,883
AHEE4TH 757 808 1,565 R E5T B 1,336 1,491 2,827 #4881 TH 476 496 972
AHZESTH 1,207 1,219 2426 A1 TH 3,063] 3.267 6,330 [##B82T B 204 193 397
RERAQD 7,116 7.442| 14558 ;B2 TH 725 733 1,458
XEAEF 1,124 1,116 2,240 |iA%3TH 85 54 139
RFELBE 920 993 1,913 |[B1TH 245 221 466
HiE1TH 459 381 840 |B82TH 270 256 526
Hig2TH 475 449 924 |[BEFR1TH 503 522 1,025
Hi&3TH 1,218 1,300 2518 |EEF®R2TH 481 499 980
Hi&4TH 1,804 1,902 3,706 |EEF&R3TH 763 790 1,553
Hi&5TH 1,091 1,125 2216 |[BEFR4TH 1080 1004 2,084
Hi&6 TH 1,119] 1,074 2,193 |EEFR5TH 1,057| 1042 2,099
$£1TH 1,187| 1,178 2,365 |EFR6TH 977 940 1,917
32TH 936 956 1892 |[BEFR7TH 1057| 1009 2,066
33TH 758 782 1,540 | KF1E45} 0 0 0
£4TH 1,039 974 2013 [#A&R1TH 741 692 1,433
35TH 712 733 1,445 |¥AAR2TH 498 485 983
t6TH 282 297 579 |#AKR3TH 622 578 1,200
t7TH 804 781 1,585 [#¥AR4TH 516 486 1,002
8TH 1,066 1,122 2,188 |BWA1TH 743 724 1,467
XE1TH 933 971 1,904 |#iA2TH 728 709 1,437
XE2TH 1,309| 1,316 2,625 |HHA3TH 676 655 1,331
XE3TH 1,751] 1,554 3,305 [HAIXR4TH 665 600 1,265
XE4TH 1,233 1,248 2481 | ASTH 742 735 1,477
XE5TH 1,151 1,150 2,301 |[N&1TH 267 265 532
BER1TH 563 599 1,162 |AB2TH 441 420 861
RER2TH 1,109 1,187 2,296 |[NA3TH 787 691 1,478
RER3TH 1,107] 1,180 2,287 |NB4TH 829 803 1,632
A = 2 £°4 it
= A 78,781 79,471 158,252




BTREFEANBEERER—ER

SHMAE12A1BIRAE

X
SWV-FEFTRREZEERER
B % BEALEERER B % BEALBEHREHR BEALEEHER B % BEAABEHEHR
E % 5t E] % 5t E % it E] % 5t
AHZEITH 1,237 1,306 2,543 | XFRA 12 9 21
AHZE3TH 743 742 1,485 [LLIIE1TH 511 426 937
RFEAXAO 86 92 178 [ KFE#% 0 0 0
EWL1TEH 1,419] 1,529 2,948 | KF3#TE 0 0 0
EWL2TH 1,437| 1,503 2940 | KFXE 0 0 0
FWSTH 709 803 1,512 |ER A1 TH 115 126 241
FL4TH 1,542| 1,689 3,231 | KM2TH 669 721 1,390
RFHE 5837| 6,251 12,088 |SRKFI3TH 654 629 1,283
RFXBA 2,563] 2,669 5232 |EHB1TH 557 613 1,170
RKFEXRHE 1004| 1,058 2062 |BHE2TH 676 644 1,320
XEFWLOHA 131 133 264 [MAK1TH 527 575 1,102
AFERFH 0 0 0 |¥AKR2TH 478 503 981
KFE=ZF 6,812| 7.245| 14057 |[}AK3TH 775 813 1,588
EHT1TH 472 553 1,025 |BEEM1TH 531 561 1,092
E#HI2TH 465 504 969 |BEM2TH 2108| 2,045 4,153
E#HI3TH 305 340 645 |F#HEIST B 1,154 1,218 2,372
E#HIT4TH 813 850 1,663 |BEMATH 918 914 1,832
RFKIF 451 366 817 |B#MSTH 741 793 1,534
REFEipEt 297 299 596 |BEMGT B 639 651 1,290
RFEFHH 282 249 531 |BEM7TH 1,113] 1,232 2,345
XFELEH 329 245 574 |E;#HEIST B 595 658 1,253
RFSHH 38 47 85 |HIHFI9OTH 512 548 1,060
KERWL 237 211 448 |XE1TH 171 17 342
RFFIU 105 101 206 |XE2TH 60 57 117
RFKP 3,789 3,809 7598 |£E3TH 574 566 1,140
RFILE 43 42 85 |XE4TH 1,667| 1,666 3,333
RFHEE 355 349 704 |XES5TH 706 730 1,436
AFTEHH 463 456 919 |XE6TH 343 337 680
REFXFEFH 91 78 169 | KfEAKR2TH 427 410 837
BEA1TH 401 387 788 | KEAASTH 532 553 1,085
BEA2TH 633 636 1,269
Z®R1TH 446 468 914
ZH2TH 395 413 808
ZH®|3TH 749 775 1,524
KFE=HE 1 1 2
-~ = S it
A A
52,445 54,368 106,813




BTREFEANBEERER—ER

SHMAE12A1BIRAE

WX
SWV-FEFH AR ERXEEZES
B % BEALEERER B % BEALBEHREHR B % BEALEEHER B % BEAABEHEHR
E % 5t E] % 5t E % it E] % 5t
RKFEM 2,007| 1,991 3998 |FHAT1T B 404 410 814 |[FHET 441 420 861 | KFHiE 118 123 241
KEAXH 0 0 0 |FHAT2TH 642 662 1,304 | KFERIF 698 630 1,328 | KFE#HF 570 599 1,169
AH1TH 441 458 899 |FHATS T H 459 454 913 | KFER 668 647 1,315 | KFEA 481 474 955
AH2TH 424 437 861 |FaAT4A T B 636 627 1,263 | KFHEAZ 396 359 755 | FE1TH 310 314 624
AH3ITH 43 43 86 |FAET5T H 587 598 1,185 | KFHE AR H 203 178 381 | LE2TH 251 276 527
AN1TH 568 560 1,128 |BHHT 435 439 874 | KFRE T 522 496 1,018 |fMEA1TH 241 255 496
AN2TH 311 331 642 | B D HET 705 700 1,405 | KFHE 120 111 231 |#REA2TH 124 152 276
AN3TH 493 516 1,009 |ESEAT 596 615 1211 | KFES I 317 311 628 |FWEA3TH 662 897 1,559
AN4TH 363 380 743 |EET1TH 368 447 815 | KFE4IEHH 13 20 33 |§REH4 T H 266 359 625
WET1TH 397 396 793 |EHT2TH 1,043 987 2,030 [ K=F#.E 238 241 479 |REA5T B 179 189 368
FRET2 T B 310 298 608 | KFE T FH 24 26 50 | KF#) EFTH 675 660 1,335 |HEH1TH 248 250 498
FHA1TH 203 184 387 |[BEFH1TH 314 336 650 | KF ¥tk 126 98 224 |REH2TH 123 143 266
FA2TH 444 460 904 |BEFFH2TH 328 364 692 | KFEE1R 221 186 407 |AHSTH 230 240 470
FASTH 5 4 9 mEHITH 433 415 848 | KFXH 680 644 1,324 |BREHATH 544 495 1,039
HR4TH 169 168 337 |[ETH4TH 342 292 634 | KFHEREF 521 460 981 |HEMSTH 361 339 700
WE1TH 446 453 899 |BEEFFH5TH 120 103 223 | KF/INiE 1,264| 1,259 2523 |HAWGTH 260 268 528
WEE2TH 261 262 523 | KFEE 288 265 553 | KFEH 854 842 1,696 |EZEE1TH 918 906 1,824
WE3TH 210 201 41 | KFRHE 153 124 277 | KFRERF 838 834 1672 |ZEF2TH 685 685 1,370
PEEATH 440 343 783 | KFiE R 167 216 383 | KFFEit 280 268 548 |XEHEITH 375 366 741
5T H 594 575 1,169 | KXFXO 158 166 324 | KF L% 313 302 615
HKR1TH 665 677 1,342 | KFXA 124 121 245 | EH1TH 422 415 837
HKRK2TH 564 578 1,142 | KFXKFE 242 220 462 | L%H2TH 198 161 359
i 610 626 1,236 | KFHABEE 98 89 187 | LH3TH 80 57 137
FAEAE1TH 424 400 824 | KF K% 49 44 93 | LH4TH 8 11 19
FEE2TH 331 360 691 | KFME 49 65 114 | LH5TH 0 0 0
AB1TH 343 336 679 |[IE1TH 598 595 1,193 [ FH6TH 197 194 391
AR2TH 405 420 825 |E2TH 293 327 620 | KFH 715 221 254 475
ABI3TH 327 371 698 [MME3TH 35 24 59 |[547351TH 12 5 17
AHB4TH 421 444 865 |INE4TH 629 582 1211 |##~ 52T H 18 10 28
AHB5TH 303 307 610 |IESTH 502 470 972 | KFHEHFR 53 65 118
AE6TH 311 353 664 | KXFIER 203 198 401 | KFRERF 758 737 1,495
HET1TH 621 619 1,240 | KFEEF 140 171 3 | KFBEE 510 444 954
HET2TH 549 542 1,091 | KF 1315 355 328 683 | KFi# 345 327 672
HET1TH 517 498 1,015 | KFZH 562 549 1,111 | KRFEE 510 506 1,016
HET2TH 381 363 744 | KFEBTF 70 51 121 | KFARE 749 785 1,534
- 5 ES E
= H 47467 47,301 94,768




